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Solve the given initial value problem: y” — 8y’ + 25y =0, y(0) = 2 y'(0) = —2. Then, find y(m).
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A 500 gallon tank initially contains 100 gallons in which are dissolved 50 pounds of salt. The tank is flushed by pumping

-
pure water into the tank at a rate of 3 gallons per minute and a well-mixed solution is pumped out at a rate of 1 gallon per
minute. Which of the initial value problems below describes the quantity of salt, Q(t), that would be in the tank at the time

t, 0 <t < 200.

4500, S(0) = 100.
55 4100, S(0) = 500.
500, S(0) = 100.




Of the following S.O.L.D.E, which one(s) have complex roots of its characteristic polynomial.
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IV.y" -2y +y =0

Which of the following represents the Wronskian of the pair of two linearly independent solutions of the given differential
equation:
ty' — 4y +ty=0,t>0
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